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   

 

 

IProfitabilitéPde  ndiceI 

1 





 


               

 

2 


 

 
           

 

3 

 (IP1)   


 

 (IP≤1)

 

 
 

07
 20232024 

  
 

  



                                                                                         2/ 3                                                             

 (IP=1)

 
              

 
 

 

A  

VAN = 800000 ( 1.1)-1 + 800000 ( 1.1)-2 + 600000 ( 1.1)-3 + 800000 

( 1.1)-4 + 600000 ( 1.1)-5 – 2300000= 2758182.19 - 2300000  

= 458182,19 

B  

VAN = 1000000 ( 1.1)-1 + 800000 ( 1.1)-2 + 1000000 ( 1.1)-3 + 900000 ( 1.1)-4 + 800000 ( 

1.1)-5 – 3000000 =  3433011.85 – 3000000 

= 433011,90 
 
 

A B  

1 

 

1 

 

2 2 

 

1

B 

 
 
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4  
  

- 
 

- 
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